Name

Date

1. Skip-count the columns in the array. The first one has been done for you.

OO0 OO0 O 00 OO0 O
o0 00 O 00 OO0 O

2. a. Solve.

1+1=

2+2=

3+3=

4+ 4=

5+5-=

6+6=
7+7=
8+8:=
9+9=

10+10 =

b. How is the array in Problem 1 related to the answers in Problem 2(a)?

3. Fill in the missing even numbers on the number path.

18, 20,

34, , 38, 40,

’

© 2014 Common Core, Inc. Some rights reserved. commoncore.org

(cc) BY-NC-SA This work is licensed under a
Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




4. Fill in the missing odd numbers on the number path.

’

, 12

14

!

5. Write to identify the bold numbers as even or odd. The first one has been done for

you.
a. b.
4+1=5 13+1=14 20+1= 21
even + 1 = odd +1= +1=
d. e. f
8-1=7 16 -1=15 30-1=29
-1= -1=
-1= —_— _— —_— —_—

6. Are the bold numbers even or odd? Circle the answer, and explain how you know.

a. Explanation:
21
even/odd
b. Explanation:
34
even/odd
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Answer Key

1. 4,6,8,10,12,14, 16, 18, 20 5. a. Answer provided.
2. a. 2,4,6,8,10,12,14, 16,18, 20 b. 0dd, even
b. Answers will vary. c. Even, odd
3. 22,24;28;32;36;42,44 d. Even, odd
4, 1,3,5,7,9, 11,13 e. Even, odd

6. a. 0dd, explanations will vary

b. Even, explanations will vary
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